215 REexE I w4 4
?%%IMﬁﬁﬁﬁﬁﬁﬁﬁwgga
A T R((EREE AR F(RE) A 2R ~ SR FEtE) - HEAE )
Tt £ 3ok 5 FREVIR R ) FFF A B
I &% | 285 | 388 |[478% |has |[6f% | TE% |[8&% | Q&%
g4 ik 5 1 5 3 3 3
REEFLEA) | M R S FL o
[HaHp 12 o
EBGREL T B D AL oL o
2404 234 W EL S T
R SarTe ] AR F 1 s 82 5i 0 [(Frsg 4 gE” [JHEv

AR

T [(FEY 4R 2 kEn (B) FARER > £

f 3 K3hp 1]

/WJ‘M?I%?:@ 7
2.8y Ap i

R
a1

B
i%

EEET

EEEMY

EEEMT

FE B

’

1~2

4~5~6

1~2

3~4

56

F2¥

11

9

6

8

6

i it

WxH 30 5

WxFE0p %

WxitE [ %

Wi 3 e %

Wit (1h %

C%ftd [p %

A

1

1

3

BARFI L

B

Bk

P A=

3
EEE:

3
EEE:

ki e
W erIdd

.

O

«wﬁ?{?“‘“
28 AR

PR
R E

g2

i * gt

Ossd Op 4

Oy O %

Osgrd Op %

Osgrd Op %

Osd Op %

Ot Of %

B L

PARRET A L

P b B FET

L2 d

M FCET gk R B

(%473 Sgbf i7471]

BA/H ix a g TSR Rt | RERRR Pl REEERE | g
Eaga fyj . s ?}gc <ﬁ¢m1§§u§z ~ | E R ( éi:jcgle) Zx2 :g&)ﬁ%% ;:; (E )ﬂ*ﬁ i”‘fﬁ"‘& (ERTB%%):EJ:F)
Bk KEL = 3 3 0 0 0 0 6
#gey| wiie |3 0 0 0 3 0 6
AL AE R
A
ERE | RiE& 12 0 0 0 0 0 12
e Ve 9 3 0 0 0 0 12
R S 16 0 0 0 0 0 16
B A = SR 14 2 0 0 0 0 16
2 FE =N 1 16 0 0 0 0 0 16
Rz | 2T 15 0 0 | 0 0 16
Zhmp | ITEHF 15 0 0 0 | 0 16
5 G 2 16 0 0 0 0 0 16
u Ik jo Fix 20 0 0 0 0 0 20
S g E2 P 114 6 * 24 ¢




73)’\ b=

A

DR R



